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ẏ(t) = a · y(τ(t)) + b · y(t) , t ∈ [t0,∞) ,

<75 τ(t) 3��54 ��	9	3�4� 
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(a) τ(t) = t+ τ , τ = const > 0 ,

(b) τ(t) = λ · t , λ = const > 1 ,

(c) τ(t) = tα , α = const > 1

�
8�6�	 ��� 	 ��� ��7��7��5E G�359�E �5�53599�E 	 	
��3�E F�9�D		
��	��7�4
� � 
8�6�� �&� � � �
4�56��4
� 4���5 ����959	�

ẏ(t) = y(t) · [ a− b · lg y(t) − c · lg y(λ · t) ] ;

ÿ(t) + w · y(t) = α · y(t− τ) + β · y(t+ σ) + ϕ(t) .
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ẋ(t) = f
(
t, x(t), x(t− τ), x(t+ τ)

)
, a 6 t 6 b, �/�

<75 x ∈ Rn : n ∈ N
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x(t) = ϕ(t), a− τ 6 t < a; x(a) = x0; x(t) = ψ(t), b < t 6 b+ τ. �K�
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ẋ1(t) = A1(t) x1(t) + B1(t) x1(t− τ) +D1(t), a < t 6 b ,
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x1(t) = ϕ1(t), a− τ 6 t < a ,
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ẋ2(t) = A2(t) x2(t) + C2(t) x2(t+ τ) +D2(t), a < t 6 b ,
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x2(t) = ψ2(t), b < t 6 b+ τ .
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?������ ������ ��
��� �� �� ���� �	��	�����	 
����������
���
A1(·), B1(·), D1(·),

��������	 ��������	 x0
1 �

��������� �	��	������
���
��� ϕ1(·)

� 
��	���
 ��	�	��
 � ���
	 t = a� � ��
�	 
�
���
�� �� ���� �	��	�����	 
����������
��� A2(·), B2(·), D2(·),

�������
��	 ��������	 x0

2
� ��������� �	��	������ ���
��� ψ2(·)

� 
��	���

��	�	��
 � ���
	 t = b� �

����	��������	 �������
�������
���� ���

�	�����
�	������ �����	�������	� �����
	�������� 
������ ���

��� 
��	��� ������ �-� �
		� 	������	���	 �	�	��	� 
�����	 
��	�
���� ����	�� 
	����
 ����� ��� � ��
���� ���
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�	 ��
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45H3�3	: 
��G�99;3	 �� 
�
4��9	�: � 
��4�54
4����	5 ���5�;5 G�7�6	 78�
9	� � 
��G�99;3	 �� 
�
4��9	� ���5�;3	 G�7�6�3	











ẋ1(t) = A1(t)x1(t) +B1(t)x1(t− τ) + C1(t)x2(t) +D1(t), a < t 6 b ,

x1(a) = xa
1 ,

x1(t) = ϕ1(t), a− τ 6 t < a ,





ẋ2(t) = A2(t)x2(t) +B2(t)x2(t+ τ) + C2(t)x1(t) +D2(t), a 6 t < b ,

x2(b) = xb
2 ,

x2(t) = ψ2(t), b < t 6 b+ τ .

?������ ������ ���� ��� �	
�����
 λ > 0 �������	��� ������	

(σ∗
λ)

2 = (σ
(1)
λ )2 + (σ

(2)
λ )2 < 1 ,

σ
(1)
λ = ‖A1‖C

1 − e−λl

λ
+ ‖B1‖C

e−λτ − e−λ(l+τ)

λ
+ ‖C1‖C

1 − e−λl

λ
,

σ
(2)
λ = ‖A2‖C

eλl − 1

λ
+ ‖B2‖C

eλ(l+τ) − eλτ

λ
+ ‖C2‖C

eλl − 1

λ
,

�� ��������� �� ��������� 
��	��� ������ �
		� 	������	���	 �	�	�
��	�

 �
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9;E 354�7 �5�59	� ���5�;� G�7�6: �
9���99;E 9� ��9�3 ��G9�
49�3
354�75 !E85�� �	GHG� 9�8	6	� ��5�5�59	� 
�53� � D58�3 ��8�54
� 95��H
9�E�. ���4�54
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453� 8	95E9;� �8<5J��	65
�	� ����959	E

Au = F
���

� ��7��J9�E G��	
	 	3554 �	7

Au =





∗ ∗
∗ ∗ ∗

∗ ∗ ∗
∗ ∗ ∗

∗ ∗ ∗

∗ ∗ ∗ ∗
∗ ∗ ∗ ∗

∗ ∗ ∗ ∗
∗ ∗ ∗

∗ ∗ ∗
∗ ∗ ∗





×





u1

...

...
um

...

...

...

up−m

...

...
up





= F ,

F =





−∆D0 − (1 + ∆A0)u0 − ∆B0u−m

−∆D1 − ∆B1u−m+1

−∆D2 − ∆B2u−m+2

.....................................

−∆Dm − ∆Bmu0

−∆Dm+1

.....................................
−∆Dp−m

−∆Dp−m+1 − ∆Cp−m+1up+1

......................................
−∆Dp−1 − ∆Cp−1up+m−1





.
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4	 n×n ��
5 �
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8�54
� J8�69�E 654;���7	�<�9�8�9�E. �� �����E 7	�<�9�8	 
4��4 
�5���
�9	G J8��	 ∆C0 : ... : ∆Cp−m

� 9� <8��9�E 7	�<�9�8	 
4��4 J8��	 (−E) :
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<75 E � 57	9	69�� 3�4�	D�� ��7 <8��9�E 7	�<�9�8�� 
4��4 
�5��� �9	G
J8��	 (E+∆A0) : ... : (E+∆Ap−1)

� 9� 85��E 7	�<�9�8	 
4��4 
�5��� �9	G
J8��	 ∆Bm+1 : ... :∆Bp−1 . �
5 J8��	 	35�4 ��G35�9�
4� n× n

.

�578��59� 95
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453 8	95E9;� �8<5J��	65
�	� ����959	E ������� G��5��3597�H
��8	 
5J� 354�7 ���

�H�5E758�: 354�7 
�����599;� <��7	594��: 354�73	9	3�8�9;� 95��G���. ����G�9� 45��53� � 
��7	3�
4	 ��	J8	�599;�
�5�59	E: 9�E7599;� �� 
�535 !E85��: � 4�69�3� �5�59	� 	
��79�E 7	FH
F5�59D	�8�9�E G�7�6	 ��	 
4�53859		 ��<� ��G9�
49�E 
54�	 � 9�8� 	
��	��7	4
� 4���5 �D59�� 
����
4	 
��7	3�
4	.
?������ ������ ���� ��� �	
�����
 λ > 0 �������	��� ������	 ���:

�� �������	���	 �	�	��	 
��	��� ������ �0�: ����	���	 ����
 
	���
��
 ���	��� ���

����� 
 �����
� �	�	��� ���� ������ ��� ���	
�	���
���� ���
�	������� 
 ���� ∆ → 0� ����	
 ��� �������� �������	�
��� z �����	

����� ��	�
�

‖z‖
(λ)
C = max{ e−λ ti · ‖zi‖ : i = 0, ..., p } 6

b− a

1 − σλ

· ω(∆) ,

��	 ω(∆) � 
����� �	��	�������� �������
���� �	�	����

�
9��9�5 �9	3�9	5 � ��J�45 J;8� �75859� ��9�3� 354�7� !E85��.��
H

3�4�59	5 ���
45E�	� ��	35��� ����G�8�: 64� 95��9;E 354�7 !E85�� 95
��	��7	4 � G�3549�3� ��58	659	� 4�69�
4	 ��
654�� 	 95 ��8�54
� J�H
855 ���9�3	69;3 �� 
���959	� 
 ��9;3 354�7�3. ��� ��57
4��8�54
�:
�4� 
��G�9� 
 453: 64� ��� � �79�3: 4�� 	 � 7��<�3 
8�6��� 
�53; � D5H
8�3 ��8��4
� 95��9;3	: 9	 �79� 	G 9	� 95 	3554 �	7	3;� ��5	3��5
4�
�5�57 7��<�E.
� �9�8�<		 
 
	
453�3	 
 G���G7;��9	53 G75
� ��G3��9�
4���5 ��

3�4�59	5 354�7�� �;
���<� ����7��: �79��� � 7�99�3 
8�6�5
�9	 ��8��4
� �659� <��3�G7�	3	.
� ��
857953 ����<��F5 <8��; �����7	4
� ��	
�9	5 6	
8599�<� 3�75H

8	����9	� ��

3�4�	��53;� ���5�;� G�7�6. �
��79�� 7	FF5�59D	�8�H
9�� G�7�6� ������
	3	��54
� �� ��9�E ��G9�
49�E 
�535 !E85��. ��453
��8�6	����
� � �5G�8�4�45 ������
	3�D		 
	
453� 8	95E9;� �8<5J��H
	65
�	� ����959	E ������ �5��54
� 4�53� ��G8	69;3	 	45��D	�99;H3	 354�7�3	 � 354�7�3 ���

�H�5E758�: 354�7�3 
�����599;� <��7	59H
4�� 	 354�7�3 3	9	3�8�9;� 95��G��.�5G�8�4�4; ��
654�� 
���9	���4
�
35�7� 
�J�E 	 
���9	���4
� 
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49�E 
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49�E 
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453: �J�J���4
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��9; 	 7���G�9; 95��4��;5 45��53; � ��G�5�	3�
4	 ���5�;� G�7�6.
?������ ������ ���� ��� �	
�����
 λ > 0 �������	��� ������	

σ̂λ = Lx

1 − e−λl

λ
+ Ly

e−λτ − e−λ(l+τ)

λ
+ Lz

eλτ − eλ(τ−l)

λ
< 1 , ���

��	Lx � Ly � Lz �

�������� ������� ���
��� f �� ����
 �	�	
	���


‖ f(t, x1, y1, z1)−f(t, x2, y2, z2) ‖ 6 Lx‖x1−x2‖+Ly‖y1−y2‖+Lz‖z1−z2‖ ,
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?������ ������ ����� ��� �	
�����
 λ > 0 �������	��� �����
��	 σ̂λ < 1 � ����� �	�	��	 x(·) = x(·;ϕ, x0, ψ) 
��	��� ������ �������
�	��	����� ������� � �����
	���� 
	���
	 ������������C([a, b]; Rn)
�� ������������ ����
	���� ϕ� x0

� ψ � ���
�� �����������
C([a, a− τ ]; Rn)� R

n � C([b, b+ τ ]; Rn) �����	����	�����9�8�<	69�� 45��53� 
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8599�3 3�758	����9		.
��	�53 ���4�� �7	9 	G �7�J9;� ���	�94�� 354�7� ���
4;� 	45��H

D	E. �
��79�5 7	FF5�59D	�8�9�5 ����959	5 ������
	3	��53 ��G9�
4H
9�E 
�53�E

ui+1 − ui = ∆ · f
(
ti, u

i, ui−m, ui+m
)
, i = 0, ... , p− 1 .

� �5G�8�4�45 ��8�6�53 
	
453� 958	95E9;� ����959	E 78� 9����759	�
95	G�5
49;� ui, i = 1, ..., p :






u−m = ϕ−m

· · ·
u−1 = ϕ−1

u0 = x0

ui+1 − ui = ∆ · f
(
ti, u

i, ui−m, ui+m
) : 3 � ,: ... : � H / ,

up+1 = ψp+1

· · ·

up+m = ψp+m .
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AU = F (U) , ���
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ẋ(t) = f( t, x(t), x(t− τ), u(t) ), t ∈ [t0, ϑ], x ∈ R
n,

x(t0 + s) = ϕ(t0 + s), s ∈ [−τ, 0],

 95��4���E G�7�99�E F�9�D	5E f = f(t, x, y, u) 	 G�7�99�E ��57;
4�H�	5E ϕ = ϕ(t0 + s) : s ∈ [−τ, 0]

. 	9��5
4�� 7���
4	3;� �����859	E U
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4�	4 	G �
5� 	G35�	3;� F�9�D	E: G9�659	� ��4��;� ��	9�785��4
95��4���3� 39��5
4�� P ⊆ R

m . ��5J�54
� 3	9	3	G	����4� 	945<��8�H
9;E F�9�D	�9�8 ��65
4��

J(u) =

∫ ϑ

t0

F ( t, x(t), u(t) ) dt→ min : u ∈ U ,

<75 F � 95��4���� G�7�99�� F�9�D	�.
�8� ��

3�4�	��53�E G�7�6	 
����578	�� 95�J��7	3�5 �
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H(t, x0(t), x0(t− τ), u0(t), ψ(t)) = max
v ∈P

H(t, x0(t), x0(t− τ), v, ψ(t)),

H(t, x, y, u, ψ) = ψTf(t, x, y, u)− F (t, x, u).
������599�� 
	
453� 78� ψ = ψ(t) 	3554 �	7
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



ψ̇(t) = −Hx(t, x
0(t), x0(t− τ), u0(t), ψ(t))−

−Hy(t+ τ, x0(t+ τ), x0(t), u0(t+ τ), ψ(t+ τ)) =

= −f T
x (t, x0(t), x0(t− τ), u0(t))ψ(t) + Fx(t, x

0(t), u0(t))−

−f T
y (t+ τ, x0(t+ τ), x0(t), u0(t+ τ))ψ(t+ τ), t ∈ [t0, ϑ],

ψ(t) = 0, t > ϑ.
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ẋ(t) = A(t)x(t) + B(t)x(t− τ) + C(t)u(t).


�
4� F�9�D	�9�8 ��65
4�� ��8�54
� ���7��4	69;3 	 P = R
m

J(u) =

∫ ϑ

t0

(
‖x(t)‖2

n + ‖u(t)‖2
m

)
dt,
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�94��<	9� �

7�99�3 
8�6�5 	3554 �	7

H(t, x, y, u, ψ) = −‖x‖2
n − ‖u‖2

m + 〈A(t)x+B(t)y + C(t)u, ψ〉n.
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	3�3 �4�E F�9�D		 �� u 7�
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u0(t) = 2−1CT (t)ψ(t).
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4	 	3554 �	7





ẋ(t) = A(t)x(t) + B(t)x(t− τ) + 2−1C(t)CT(t)ψ(t),
t ∈ [t0, ϑ],

x(t0 + s) = ϕ(t0 + s), −τ 6 s 6 0,

ψ̇(t) = 2x(t) −AT (t)ψ(t) −BT (t+ τ)ψ(t+ τ), t ∈ [t0, ϑ],

ψ(t) = 0, t > ϑ.

�//�

� ��3���� �5G�8�4�4�� �5���E <8��; F��3�8	��54
� 45��53� 
��5H

4����9	� 	 57	9
4�599�
4	 �5�59	� �4�E G�7�6	. 
�453 7	
��54	G�H
D		 G�7�6� �//� 
��7	4
� � 
	
4535 8	95E9;� �8<5J��	65
�	� ����95H
9	E: ��4���� G�453 3��54 �5��4�
� ��G8	69;3	 6	
8599;3	 354�7�H3	. �5��4��;5 	G 6	
8599;� 354�7�� ��G��J�4�9; � �5���E <8��5. I
8	
(x∆(·), ψ∆(·)) � ����5H8	J� ��	J8	�599�5 �5�59	5 
	
453; ��4	3�8�H
9�
4	: 4� 453 
�3;3 J�754 9�E759� 	 
��4�54
4����55 ��	J8	�59	5 �
��4	3�8�9�3� �����859	�

u0
∆(t) = 2−1CT (t)ψ∆(t) ≈ u0(t).
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ẋ(t) = A(t)x(t) +B(t, x(t− τ)) + C(t, x(t− τ))u(t).
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H(t, x, y, u, ψ)) = −‖x‖2
n − ‖u‖2

m + 〈A(t)x+ B(t, y) + C(t, y)u, ψ〉n.
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u0(t) = 2−1CT (t, x(t− τ))ψ(t).
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



ẋ(t) = A(t)x(t) + B(t, x(t− τ))+

+2−1C(t, x(t− τ))CT (t, x(t− τ))ψ(t), t ∈ [t0, ϑ],

x(t0 + s) = ϕ(t0 + s), −τ 6 s 6 0,

ψ̇(t) = 2x(t) −AT (t)ψ(t) −BT
y (t+ τ, x(t))ψ(t+ τ)−

−2−1[C(t+ τ, x(t))CT(t+ τ, x(t))ψ(t+ τ)]Tyψ(t+ τ),

t ∈ [t0, ϑ],

ψ(t) = 0, t > ϑ.
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∆(t) = 2−1CT (t, x∆(t− τ))ψ∆(t) ≈ u0(t).
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{
ẋ(t) = a(t)x(t) + b(t)x(t− τ) + c(t)u(t), t ∈ [t0, ϑ],

x(t) = ϕ(t), t0 − τ 6 s 6 t0.
�75
� u0(t) = 2−1c(t)ψ(t) : 
	
453� ��4	3�8�9�
4	 	3554 �	7






ẋ(t) = a(t)x(t) + b(t)x(t− τ) + 2−1c2(t)ψ(t), t ∈ [t0, ϑ],
x(t) = ϕ(t), t0 − τ 6 t 6 t0,

ψ̇(t) = 2x(t) − a(t)ψ(t) − b(t+ τ)ψ(t+ τ), t ∈ [t0, ϑ],
ψ(t) = 0, t > ϑ.
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A0(t) =

(
a(t) 2−1c2(t)

2 − a(t)

)
, B0(t) =

(
b(t) 0

0 0

)
,

C0(t) =

(
0 0
0 − b(t+ τ)

)
.
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2 0.1 sin(t)
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, B0(t) =
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0.1 t 2 0

0 0
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C0(t) =

(
0 0

0 − 0.1 − 0.2 t− 0.1 t 2

)
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